’ g0

I i | 1
@, r : D
b } ﬂ

S .n‘ — , » ] . - 1] | y | | y | %&w&éz‘u;“%s?\,

20— , | e o v

o1/ oo —i | [l )

S J@®___ $ABO o P L ’ '

FRONT VIEW

FRONT @/}Z — N\\ | REAR

L3 )
N 8d NALS

@ /.‘/ |LGs | T |
T g 1t %/ . | - IR % iy
7 A Sl

/ ) A— : \¢ ;
@) 37::@{% 1 Ol ) \S\,
367Gy @9 | mtl i i i i
: ul '2,_2“4 | @]_@——G L4
RIGHT SI1DE VIEW VIEW

COOPERATIVE EXTENSION WORK IN .
AGRICULTURE AND HOME. ECONOMICS
HTATE OF MISSIGSIPP
MISSISSIPP] STATE UNIVERSITY,

SCALE! l\/l %"_F'Eg" UNLESS OTHERW| SE UNITED STATES OEPARTMENT O AGRICULTURK COOPERATING
| WAGON RiAOK FOR TOSSED BALES
§ FRONT OPENING

~ BASED ON: UNIV. OF WISC. PLAN 300N, |WISC. 73 ex.6 173 |sHeer | or2|
;.GRAPHIC_ SCALE : ' ~ — :




* PART MO, NAME ~ No., PCS, DIMENSIONS

1 MAIN SILL 2 4 x 8 x 16’
2 CROSS SILLS 7 b x 4 x 8" 7 |
3 BOLSTER IRON j 4 X 4 x 174" x 12 ANGLE IRON
4 BOLSTER IRON oy 2" X 2% x 1/4" x 4 ANGLE [RON
5 BOLTS FOR CROSS SILLS 10 1/2° x 12" CARRIAGE BOLTS
G LTS FOR BOLSTER (0N 8 1/2" X 4 1/2" CARRIAGE BOLTS
» 7 CROSS TI 2 X4 x " e
RIGHT SIDE. 1 - 8  BOLTS END CROSS SILLS &~ 1/2" x 13" CARRIAGE BOLTS.
— SR | | 9 FLOR | 4 3/4" x 4" x 8" EXTERIOR PLYNOOD
e o _IFN ml MW e S | 10 SwDING 15 2 x4 x84
‘ JE/:/_/_:?/ e i | 11 BRACKET 13 2" X 2.1/2" x 1/4" - 3 1/2" ANGLE [RON
, 'l | | I=——TT | TR | 12 BOLTS FOR BRACKET 13 3/8" x 2" CARRIAGE BOLTS.
T E | | =" 1| |1 46 | | 13 - BOLTS FOR STUDDING 15 3/8" x 5 1/2" CARRIAGE BOLTS
= ' ¥ = . ] | 14 BOLTS FOR BRACKET 13 3/8" x 4 CARRIAGE BOLTS
| 15 SIDE RAIL 12 2" X 47 x 5" 8" 4
|t N i pifesigiell || MOt N th it ibedpuds | 15 SIDERAIL 7 2 4 x 1"
ray | x = e | | 158 REAR RAIL 7 2" % 4 x 8
== l = N 16 BOLTS FOR SIDE RAILS 97 3/8" x 5 1/2" CARRIAGE BOLTS
I | ——“ﬂﬂf/ﬁ/;/@: 160 BOLTS FOR REAR RAILS 14 3/8" x 3 1/2" CARRIAGE BOLTS
REAR BB pp——— ——— i —— —— 17 T0P RAIL 1 2" X 8" x 16" |
T T Ll ,1:,/4/” 18 TOP CAP 2 2" x 6" x 16’
— = 19 LAG SCREHS FOR TOP-CAP 16 38 x
=" I+ I IL—/\' | 20 CORNER ANGLE 2 2" x 2" x 3/16" x 7' 3" ANGLE IRON
e — — - el Tttt | T || =t | 21 BOLTS FOR CORNER ANGLE 28 3/8" x 2 172" WACHINE BOLTS.
P At == = F- 22~ BRACES 2 2" x 4 x 10"
| 8d NAIL | 23 BRACES 2 2" x 4" x 11"
= B o 0‘2‘, ! = : ' 24 BRACES 2 2" X 4 x §' 9"
= . | I 25 CHAIN 5 3/16" PROOF COIL CHAIN-5*
1] . | : oL 26 CHAIN HOOK 5 1/4" ROD 12" -
! B | | 27 BOLTS FOR CHAIN 10 3/8" x 2 1/2" MACHINE BOLTS
Ty il R ;g:,l{,[ﬂ 1M | j 23 FOLDING PLATFORM y 2" X 6" x ' 6" +
— | | - PLATFORMS 1N DOWN pOSITION~ 73y 29 FOLDING PLATFORM 3 2° X 6" x 2' 4"
LEFT StpE{ | 5l | ; S 30 BOLTS FOR PLATFORM 13 3/8" x 3 1/2" CARRIAGE BOLTS
| | Y "o 31 HINGES FOR PLATFORM 1 1/2 PR, 8" STRAP HINGES
' | - ,_ | | 314 BOLTS FOR HINGES 3 5/16" x 1 1/2" CARRIAGE BOLTS
e , 7% 318 BOLTS FOR HINGES y 5/16” x 5" CARRIAGE BOLTS
TOP———V-I-E-W ) @3 31C  BOLTS FOR HINGES 12 5/16” x 3 1/2" CARRIAGE BOLTS

3 : 32 CHAIN- SUPPORT 3/16" PROOF COIL CHAIN 3 1/2’

SCALE: 10 - 3R CHAIN SUPPORT BOLTS 3/8" x 2 1/2" CARRIAGE BOLTS
ly2"s1%0 gt 328 CHAIN SUPPORT BOLTS 3/3" x 4" CARRIAGE BOLTS
P | 33 EYE BOLT

174" x 4" EYE -BOLT

'HOOK 6" OR MORE

2" x 6” x 2‘ q” .

2" x 6" x 7' - 83/4"

3/16” PROOF COIL 3 1/2°

3/8" x 2 1/2" CARRIAGE BOLTS

. 3/8" x 4" CARRIAGE BOLTS

1/2 PR, 10" STRAP HINGES

N\

334 HOOK

3% FRONT PLATFORM
35 FRONT PLATFORM

36 CHAIN SUPPORT
) ~ 36A - CHAIN SUPPORT BOLTS
, 368 CHAIN SUPPORT BOLTS
.7 : 37 HINGES

\

LTI £ ST
\\\\
NN A
(RN
\\ \ \
N NN ESETWNDSESENDNDND

-7 33 BOLTS FOR HINGES 1 5/16" x 3 1/2" CARRIAGE BOLTS
- :/ 380 BOLTS FOR HINGES 6 5/16" x 5" CARRIAGE BOLTS
N 388 BOLTS FOR HINGES 6 516" x 1 1/2" CARRIAGE BOLTS
TEORM 39 FRONT LATCH PART 2 2" x 2" x 1/4" x 1’ 8" ANGLE IRON
40  BOLTS FOR FRONT LATCH 4 3/8" x 2 1/2" CARRIAGE BOLTS
LATCH 41 FRONT LATCH PIN 2 3/4" % 3" STEEL WELD TO ANGLE
42 FRONT LATCH PART 2 3/8" x 1 1/2" x 7" STEEL
43 BOLTS FOR PART 42 ly 3/8" x " MACHINE BOLTS
44 COTTER PIN 2 e x 3
45 CHAIN 2 1/16” LINK STOCK - 6
CUT FOR QPERA | 46 BRACE 2 11/2" x 1 1/2" x.1/8" x 3'7" ANGLE
OF PLATFORM. | WELD . 47 BOLTS FOR BRACE 2 3/8" x 1t 1/2" MACHINE BOLTS
' 48 BOLTS FOR BRACE 2 3/8” x 5" MACHINE BOLTS
A | 49~ BOLTS FOR BRACE 26 3/8" x 3 1/2" CARRIAGE BOLTS
REAR BOLSTER [IRON PLAIN WASHERS 300 380
‘ ' | . ~ PLAIN WASHERS 24 1/2" )
'/Z"HOLFé . NAILS 1# 8o NAILS
| i ' | BOLT LENGTHS FOR-STANDARD DIMENSION OF COMMERCIAL LUMBER

.50  BOLTS FOR FRONT PLATFORM 13 3/8" x 3 1/2" CARRIAGE BOLTS

~ / | COOPERATIVE EXTENSION WORK IN o

FRONT BOLSTER (RON | AGRICULTURE AND HOME, ECONOMICS |
| e -l STATE OF MISSISSIPPI |
MISSISSIPPI STATE UNIVERSITY

AND
UNITEQSTATKS OEPARTMENTOFAGRICULTURKCOOPERATING

T

lwisc, '73 Ex.6173 rsue.zrz OF2




	6173-1-2
	6173-2-2

